PART-Il (¥T1-11)
SCHOLASTIC APTITUDE TEST
IfyP audar ghieqor

Questions: 91 to 180

Q.91

Q.92

Physics

If AB represents the direction of
a ray of light incident on a
convex mirror and 1,2,3&4
represent the possible
directions for the reflected ray.
Mark the correct reflected ray.

Two similar plane mirrors P & Q
are kept parallel to each other &
a ray of light strikes P & suffers
repeated reflections 4 times on
P, before leaving this
combination, from the edge of
Q. The minimum length of mirror
Prequiredis

10 cm

40 cm

60 cm

(3) 80cm /

£D

100 cm

9.91

9.92

Physics
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40 cm

10 cm

60 cm

80 cm

/ {
100 cm
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Q.93

Q.94

Q.95

When a red light is used instead
of blue light, the focal length of a
convex lens will

(1) Increase

(2) Decrease

(3) Remain same

(4) Doesn't depend on colour

A body projected vertically
upwards, comes back to earth
after some time, the graph
which correctly represent this
motion—

u uff
t

(2)

(4)

Two light spring balances are
connected in series. The upper
end of first spring balance is at
fixed support & lower end of
second spring balance is
attached to a mass of M kg. The
system now hangs vertically.
Which of these statements, is
correct.

(1)
(2)
3)

Both scales will read M/2 kg
Both scales willread M kg

Both scales will read different
butthere sumis M kg

Lower scale will read M &
upper will read zero

(4)

9.93

9.94

9.95
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Q.96

Q.97

Q.98

If the minimum and maximum
heights of a child, above
ground, while swinging, are 1m
& 6m respectively, the maximum
speed of child will be -

6 m/s

2430 m/s
245 m/s

10 m/s

(1)
(2)
)
(4)

An electric fan is switched 'ON’
in a closed room. The air in the
room-

(1) is cooled

(2) is heated

(3) maintain its temperature
(4) is heated or cooled

depending upon the
atmospheric pressure

A solid of density D has weight
W.Ifitis completely immersedin
a liquid of density d, then the
apparent weight of the solid is -

(1)
(2)
3)
(4)

W (1-d/D)
W(1-D/d)
W(1+d/D)

W(1+D/d)

9.96

9.97

9.98

[T [ §U U 9= @l SR A
<A 9 IAfAHTH HaATS HAL: 1
#. @ 6 #1. 3 A1 =3 B SAfSHan
a1t grft-

6m/s

230 m/s
245 m/s
10 m/s
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(1) W (1-d/D)
W(1-D/d)
W(1+d/D)

W(1+D/d)
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Q.99

Q.100

Which one of the following is the
best set up for tracing the path
of a ray through a rectangular

glass-slab.

(1) (2)

©) (4)

Three electric bulbs A,B & C are
connected as shown in figure.
What changes occur in
brightness of the bulbs when
the switch is closed?

)

Brightness of A increases,
but that of C decreases.

Brightness of A remains
same, but of C decreases.

Brightness of both A& C
decreases

Brightness of A increases
but that of C remains the
same

9.99

9.100
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Q.101

Q.102

Q.103

When a metal-sphere is heated,
the largest percentage increase
will occurinits-

(1) Diameter

(2) Area
(3) Volume
(4) Density

Choose the correct alternative-

i. Sound travels faster on a hot
summer day than on cold
winter day.

ii. Like sound, light can't
propagate in vaccum.

iii.  Sound travels faster in solids
thanin gases.

iv.. ~Speed of sound is not
affected by changes in
atmospheric pressure.

(1) 1&2areTrue but3 &4 are
False

(2) 2isFalse, 1,3 &4 are True

(3) 1 &4 areFalse, 2 & 3 are
True

(4) 2 &4 are False, 1 & 3 are
True

Reduction process involves
(1) Lossofelectrons

(2)

(3) Removal of hydrogen
(4)

Gain of electrons

Addition of Oxygen

U.101 9 91g & M Bl T & Sren g
@ waifde gfdea gfg @< &,
-
(1) = ¥
(2) &F%Hd H
(3) MIAT H
(4) °9d H

1.102 ¥ A% g+ (a,b,c & d)
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Q.104

Q.105

Q.106

Q.107

Q.108

Q.109

Reaction C+O,—» CO, is an
example of

(1) Combination Reaction
(2)
(3) Decomposition Reaction
(4)

Neutralization Reaction

Displacement Reaction

Number of electrons, protons
and neutrons in an atom of
chlorine ,,CI* is

(1) 18,18,17
(2) 17,18,17

(3) 17,17,18

(4) 18,17,18

Which out of the following has
the maximum weight?

(1) OneMoleH,

(2) OneMole NH,

(3) OneMoleCO,

(4) OneMoleH,O

Which of the following is not a
compound?

(1) PlasterofParis

(2) Common Salt

(3) Sugar

(4) Diamond

Which gas is produced from

incomplete combustion of fuels
like diesel and petrol?

(1) CO,
(2) cCoO
(3) NO,
(4) SO,
Which out of the following is not

. 104 3rfafssan C+O0,—» CO, =T & &

e SeEv &

(1) FareE ifafsa

(2) SETEFTGRO i
(3) 3rgueH i

(4) Ta=ery= srffdsan

105 TR, CI®° & TP U=ATY H

SolagE, WieF a1 ggE 3t
=T B

(1) 18,18,17

(2) 17,18,17

(3) 17,17,18

(4) 18,17,18

. 106 =1 9 A fbaeT R sifddaH 27

1
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& Al CO,

)
)
)
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(
(
(
(
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(4) BT

. 108 ST 9 Ui & (YUl T84 A PIA

A T Ia= A 2?
(1) CO,

(2) CO
(3) NO,
(4) SO,




Q.110

Q.11

Q.112

Q.113

Q114

anorganic acid
(1) Citricacid
(2) Lacticacid
(3) Tartaricacid
(4) Nitricacid

The compound in which most of
metals occurin nature are

(1) oxide
(2) sulphide
(3) sillicate
(4) nitrate

A + HNO, —» NH,NO, + H,0
What is A in above chemical
reaction

(1) NH,

(2) NH,NO,
(3) NH,OH
(4) (NH,),SO,

Which element shows allotropy
in gaseous state

(1) Carbon
(2) Sulphur
(3) Tin

(4) Oxygen

Which compound of carbon is
used as arefrigerant?

(1) CH,

(2) CO

(3) CO,

(4) GCH,

Disease caused by the infection

9. 109 =1 9§ 9§ PI9 91 Brefed 3 g

87
(1) fafed arat
(2)
(3) <TIER® ar
(4)

9. 110 ggfa 4§ 3ifdere arge fow difie

P w9 H TS Wl @

(4) Ege

9.111 A + HNO, —» NH,NO, + H,0

SWRIF ITEAfAe AfAfhar § A
Gk

(1) NH,

(2)

(3) NH,OH
(4)
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Q.115

Q.116

Q.117

Q.118

Q.119

of dog and monkey's saliva
(1) Cholera

(2) TB.

(3) AIDS

(4) Rabbies

Cactus is akind of plant

(1)  Fruit

(2) Ornamental
(3) Vegetable
(4) Flower

Cuscutais a

(1) Saprophyte

(2) Partial Parasite
(3) Autotroph

(4) Fully Parasite

Maltase digest

(1) Protein

(2) Fat

(3) Nucleic Acids
(4) Carbohydrate

A bird that migrates to India
during winter is

(1)
(2)
(3)
(4)

Red blood corpuscles lacks

Common Crow
Indian Sparrow
Dodo

Siberian Crane
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Q.120

Q.121

1 Mitochondria

3
4

(1)

(2) Nucleus
(3) Golgi bodies
(4)

All of Above

Which bacteria is responsible
for food poisoning

(1) Salmonella

(2) E.Coli
(3) Rhizobium
(4) All of Above

Ascorbic acid is the name of
Vitamin

(1 A
(2) B
@) C
(4) E

Q.122 Reproduction in Bryophyllum

Q.123

occurs through

(1) Bulb

(2) Stem

(3) Root

(4) Leaf

Which of the following

organism have characters of
both animal & plant cell.

(1) Amoeba

(2) Paramecium
(3) Uglena

(4) Entamoeba

Q. 124 Which of the following process

9.119

9.120

9.121

9.122

9.123
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shown by this diagram?

(1) Cellx

(2) Embryo formation
(3) Ovulation

(4) Fertilization

Q.125 A tadpole develops into an adult

Q.126

frog by the process of
(1) Fertilization

(2) Metamorphosis
(3) Embedding

(4) Budding

The given data are in the form of
Assending order. If their Median
is 63 then find the value of x.

15,18, 25, 50, x, x+2, 80, 84, 90,94
(1) 60
2) 61
(3) 62
(4) 63

Q.127 A Right Angle Triangle has their

side 5cm, 12cm and 13 cm is
revolved around the side12 cm
and 5 cm respectively. In both

position, the ratio of their
volumes of a cone will be what
(1) 14

(2) 5:3

(3) 512

(4) 5:13

9.124

9.125

9.126

9.127
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(2) HCHR®BIRN

(3) IMHISKT
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15,18, 25, 50, x, x+2, 80, 84, 90, 94
(1) 60

2) 61
(3) 62
(4) 63

1
2
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(
(
(4

)
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)
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(1) 1:4

(2) 5:3

(3) 5:12

(4) 5:13

35



Q.128 The diameter of a sphere is

Q.129

Q.130

Q.131

reduce 25%. Then how many
percentage of this curved
surface area will be reduced ?

(1) 40.75%
(2) 41.75%
(3) 42.75%
(4) 43.75%
The ratio of sides of a Triangle is
12:17:25 and their perimeter is

540 cm. What is the length of a
shortest side of a Triangle ?

(1) 110cm
(2) 120cm
(3) 125cm
(4) 100cm

In a Triangle BC = 8 cm, /B=45°
and difference of two another
sidesis 3.5cmthen

(1) AB>AC

(2) AC>AB

(3) BothPossible

(4) AB=AC

The three points A, B and C are
situated on the circumference of
a circle whose radius is 5 cm
then the distance between A and
B orBandCis 6 cmeach. Then

find the value in between A and
Cc?

(1)
(2)
©)
(4)

3.8cm
4.8cm
7.6cm
9.8cm

Y. 128 TP Ml DI AT 25% PH BN a1

9.129

9.130

9.131

SR A ST 9% YO 8%
a1 ufera &9 8 smgm?

(1) 40.75%

(2) 41.75%

(3) 42.75%

(4) 43.75%

feft By @t yomsii @1 U
12:17:25 T I9P1 IR¥T9 540 [+
2| 9 By o 9e9 Bt gon 3
SIS I e ?

(1) 10cm
(2) 120cm
(3) 125cm
(4) 100cm

T 3y« & BC = 8 cm, /B= 45°
3R 3717 1 YoTI3ii &1 <R 3.5¢cm
g, 79

(1) AB>AC

(2) AC>AB

(3) TFI Ava

(4) AB=AC

U d@Eier B aa ga @t
9RfY o= <= fag5 A, B3R C 59
uHR g f5 A 3R B @211 B 3R C

HUAG R 6 AN gAMANRC
@ 99 @ T 71 Eeh ?

(1
(2
3
4

3.8cm
4.8cm
7.6cm

)
)
)
) 9.8cm
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Q.132

Q.133

Q.134

Q.135

ABCDE is a Pentagon. The
Bisector of angle BAE intersect
CD at M and Bisector of angle
BCD intersect AM at P then what
is the angle of CPM ?

(1) 27°
(2) b54°
(3) 108°
(4) 60°
If x*-3x+2 is a factor of

polynomial x*- ax*+b then what is
the valueofaandb

(1) 5,4
2) 3.4
3) 35
4) 2,1

Factorize.

If x=7+4J3 then findthe

value of x*+ 12
X

(1) 195
2) 192
(3) 194
(4) 193

9.132

9.133

9.134

9.135

ABCDE U& WHUAYS Tl PIUI
BAE &1 9Hf29T5id CD &1 M WR
dledl g IR P BCD HI
JAHfg9ISies AM Bl P UR dicdl ©
Tl BIvT CPM &1 217N?

(1) 27°

(2) 54°

(3)

(4)

afe x*-3x+2 TgUS x'- ax’+b B
YOS & Al a 3R b 1 A4 a4
B?

(1) 54

(2) 3,4
(3) 3,5
4) 2,1

o|T o|= T|l- o|T

e x=7+4{3 A+ 12?5[
X

14 =1 2n?

(1) 195

(2) 192

(3) 194

(4) 193

37



Q.136 Write down in the lowest form of

Rational Number.
xX-1 _ X-4x-5
X - 25 X'+ 4x-5

(x- 1)
(x +5)°

(2) (x+1

(1)

2

X+5
x-1
X-95
x-1

(3) (

(4) (

x+5

Q.137 A cone has height 24 cm and

Q.138

Q.139

radius of base is 6 cm. Recast in
the form of sphere. Find the
radius of sphere.

(1) 2cm
(2) 4cm
(3) 6cm
(4) 8cm

Age 15 20

(In Years)

Students |3 |8
Numbers

10

Find Mean Age.
(1) 17.45
(2) 15.35
(3) 1245
(4) 10.35

The Point (-3, 2) and (1, -2) what
is the mid point?

(1) (0,-2)
(2) (-1,0)
3) (0,0

(4) (-2-4)

7.136 X -1

. X -4x-5
x-25 X' +4x-5
P a9 vl & aRAy TJod B
w9 ¥ feran |

9. 137 TP ¥q O ST 24 cm 3R YR

9.138

9.139

@1 3591 6 cm 1 SHH YA: Th
Mot & HY H 954 TR el Bt
Broan Fan erft |

(1) 2cm

4 cm

(2)
(3)
(4)

15 17(18/19| 20

10/10|5 |4

H1e 1Y 1 BRI |
(1) 17.45
(2) 15.35
(3) 1245
(4) 10.35

fa=g (-3,2) 3R (1, -2) &1 7187 fag
1 B?
(1) (0,-2)
(2) (-1,0)
(3) (0,0)
(4) (-2,-4)
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Q.140

Q.141

Q.142

Q.143

Find the number of diagonal of a
Nonagoan.

(1) 12
2) 15
3) 17
4) 27

A's Income is 60% more than
that of B. By what percent is B's
income less thanA's?

(1) 62.5%
2) 37.5%
(3) 160%
(4) 100%

If the cost price of 10 mangoes
equal to the selling price of 8
mangoes, find the gain of loss
percent.

(1) 10% gain
(2) 15% loss
(3) 20% loss
(4) 25% gain

If 5men or 7 women can earn Rs.
875 per day. How much would 10
men and 5 women earn per day.

(1) 2175
(2) 2275
(3) 2375
(4) 2475

9. 140 GHIYS & fdeuil @ dwn @

9.141

9.142

9.143

it

(1
(2
(3
(

12
15
17

27

)
)
)
4)

A @} MHS B # e | 60
ufaerd 3ifd®w 8 d A Bt e |
B & fham ufdera &9 27

(1) 62.5%

(2) 37.5%

(3) 160%

4) 100%

8 31 &1 fasha [T 10 M B HA
I & RO T M A g
gfcrera | aasii |

gfe 5 et a1 7 3fRG 875 .
yfafeq saa € a1 10 e 3R 5
AR fAawe ufafes fda

HATTA?

(1) 2175
(2) 2275
(3) 2375
(4) 2475
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Q.144

Q.145

Q.146

Q.147

ABCD is a Parallelogram. AO
and BO are the bisector of LA
and LB respectively. Find LAOB.

(1) 90° D c
(2) 60° )

(3) 50°

@) 450 " °

The Parallel sides of a
Trapezium are 25 cm and 13 cm
and its non parallel sides are
equal each being 10 cm. Find the
area of Trapezium.

(1) 142 cm’
(2) 152 cm’
(3) 162 cm’
(4) 172 cm’

In which following year Battle
of Plassey fought

1757

Between 1740 to 1761 how many
times Ahmad Shah Abdali
invaded India.

(1) FourTimes
(2) FiveTimes
(3) SixTimes
(4) SevenTimes

9.144

9.145

9.146

9.147

ABCD U& ¥R agqs &1 AO
3R BO HH9I: Il A 3R BIvT B
P FHZUTSIP & < BIoT AOB &I
| qis | D c

1
2
3

90°
60°
50°

4

(
(
(
(4) 45°

)
)
)
)
TH T d FARR Yolig 25
AW R 13 [ T SR sl

IRTIR YWY T 3R IS 10
A 2 91 A9 BT AABA g1 |

1) 142 T3 I

3

(1)
(2)
(3)
(4)

152 a1 A9
162 a¥1 I
172 91 I

fAforfaa fda ad 4 <R &1
Jg oS 1T?

(1)
(2)
3)
(4)

1757
1764
1777
1790

1740 |9 1761 & &9 3E9S e
IF<Tell 4 YRd R fhal IR
3mshHYT fhar?

(1)
(2)
3)
(4)

IR IR
IEKCIN
BE IR

A dR
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Q.148

Q.149

Q.150

Q.151

What does Peshwa Post stand
for -

(1) Advisor

(2) President

(3) Chief Minister
(4) Prime Minister

Who founded the state of
Hyderabadin 1724

(1) HyderAli

(2) Tipu Sultan

(3) Alivardi Khan

(4) Nizam-ul Mulk Asaf Jahi

British East India Company
established their first factory at
which of the following place-

(1) Surat
(2) Bombay
(3) Madras
(4) Poona

The Treaty of Allahabad was
signed between-

(1) Robert Clive, Shuja-ud-
Daulah and Shah Alam

French, Shuja-ud-Daulah
and Shah Alam

Marathas, Shuja-ud-Daulah
and Shah Alam

Sikh, Shuja-ud-Daulah and
Shah Alam

9.148

9.149

9.150

9.151

eran ug 4 | 9 feaas forg &=

A= 9 | P9 = ) fafew s
sfear FU- 3 U1 gl hacd
ITfaa 17

(1) [

(2) =3

(3)

(4)

4) I

gTREE B |f = | | fhaa

L g7

(1) YTaC TS, ORI, Al 3R
31TE MM

(2) HIART, YIS, Srefl 31 oM
3T

(3) ¥RIST (ARS) YGIRATS, arall 3R
NIRIR|

(4) THaE, gowRs, aldl iR s
31T
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Q.152

Q.153

Q.154

Q.155

Q.156

Who was from the following the

brother of Madhav Rao-
(1) Bheem Rao
2) Govind Rao

(2)
(3) Sada Shiv Rao

(4) Narayan Rao

Who is considered the Father of
Modern Education

(1)  William Wilber force

(2) Lord Macaulay
(3) Charles Grant
(4) Charles Wood

Who banned the human
sacrificeinIndia ?

(1)
(2)
)
(4)

Awadh was annexed into British
India on the Pretext of-

(1)

Lord Harding
Lord Wellesley
Lord Bentink
Lord Dalhousie

Riots of Hindu Muslim

British were against the
Nawab

Due to Misrule

(4) Noneofthese

Mangal Pandey belongs to
which regiment-

(1) Meerut

(2) Kanpur

(3) Delhi

(4)

4) Barrack Pur

9.152

9.153
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. 157

Q.158

Q.159

Q.160

Q.161

In which year Indian National
Congress was founded?

(1) 1882
(2) 1884
(3) 1885
(4) 1890

Who is known as the Father of
Indian Constitution?

(1) Pt.JawaharLal Nehru

(2) Dr.BhimraoAmbedkar
(3) Dr.RajendraPrasad
(4) BabuJagjivan Ram

How many tier of government
provide in Indian Constitution ?

(1 2
2) 3
(3) 4
4) 5
Which is the Article of
Constitution states

untouchability has been
abolished?

(1) Article 16
(2) Article 18
(3) Article 28
(4) Article 17

If a 13-year old child is working
in afactory, whatis it called?

(1) Child Labour
(2) Factory Worker
(3) Baildar

(4) Allofthese

9.157

9.158

9.159

9.160

9.161

YR IS B @1 AT
A= ddfeaaddgs?

(1) 1882

(2) 1884

(3) 1885

(4) 1890
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IR dfay™ & &4 g=se ©
dEd QIEd B WA HR e
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(1) 3TJ=o< 16

(2) STIB< 18

(3) STJevs 28

(4) STI=BT 17

Ife 13 A1t b1 goa1 Do § B
PR Y81 8, 1 SQ HT gl SIIem?
(1) 97T HoIgR

(2) HIT AR

(3) delER

(4) SURTIT A4l

43



Q.162

Q.163

Q.164

Q.165

Q.166

Where is the present building of
Supreme Court?

(1) OnMathuraRoad

(2) OnG.T.Karnal Road
(3) OnJaipurDelhi Road
(4)

4) RamTulaRam Marg

Who did give order to fire in
Jallianwala Bagh on innocent
people who continued protest
calmly?

(1) Dr. Satya Pal

(2) Dr. Saffudin Kichlew
(3) Lord Cornwalis

(4) General Dyer

Who is Chairman of Rajya
Sabha?

(1) Prime Minister of India

(2) Presidentofindia

(3) Vice Presidentof India

(4) Speaker

Which of the following are
Fundamental Rights?

(1) Rightto Equality

(2) Rightto Freedom

(3) Right against Exploitation
(4) All of these

Who decides whether a person
is guilty or not?

(1) Advocate ofthe accused

(2) Public Prosecutor
(3) Judge

(4) Police

9.162

9.163

9.164

9.165

9.166

I wdiead R dEl W)
fRera 27

(1) HYRTIS W

(2) STodlo HRAT IS TR

(3) SR facell I8 W)

(4) TH AT I AR
Sferdiaren a1 | wnfxagd® fagie

P T2 ol R fHaa el T
o1 39T fear?

(1) Sfo HgUTA

(2) o AR fbere
(3) TS HMaTfer™d
(4) SRS SRR

IS GHT BT L& B 2l &7
1) YRT BT GITHA
2) YRd B Ul

3) WRd HI SURTTT
4) IHR

(1)
(2)
)
(4)

A=fafaa & 9 o4 ¥ HAifos
AfPR 8?2

(1) AT BT 3MTBR

(2) AT BT DR

(3) WYY & fIwg IMfAFR

(4) SURIE a4

up afdd Rl ® ar SE, dE
fAf¥era owan 2?

(1) <19 U&l Bl gdiel

(2) PRI qhie

(3) =TT

(4) gfers

~— ~— ~—




Q.167

Q.168

Q.169

Q.170

Q.171

Which Political Party make its
agendabased on Hinduism?

(1) Bhartiya Janta Party
(2)
(3) Indian National Congress
(4) Akali Dal

Bahujan Samaj Party

Which is an organisation that
arranges toilet facilities in the
city and towns.

(1) BharatVikas Parishad
(2) Sulabh

(3) Mohalla Sudhar Samiti
(4)

4) Gram Panchayat

The person elected by the
people are called of the
people.

(1) Chairman

(2) Speaker

(3) Prime Minister
(4)

4) Representatives

Which is the main vegetation of
our India?

(1) Deciduous Forest

(2) Evergreen Forest
(3) Sawana Grassland
(4) Mediterranean forest

When was Nhava Sheva Port
services setup ?

(1) May 1966
(2) May 1989
(3) May 1947
(4) May 1982

9.167
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Q.172

Q.173

Q.174

On which river coast is
Jamshedpur situated?

(1) Mahanadi

(2) Godavari

(3) Ganga

(4) Savarnrekha

Which is the oldest fold
mountains of India?

(1) Satpura

(2) Aravalli

(3) Vindhya

(4) Maikal

Match the following states with
the national parks

National Park State

(1) Kajiranga Assam

(2) Jimcorbett Uttar Pradesh

(3) Madhav Madya Pradesh

(4) Bandipur Karnataka
Q.175 Where is Copper Plant located in

India?

(1) Naveli

(2) Kudera Muka

(3) Udaipur

(4) Malaj Khand

Q.176

Which place is not located on
the eastern seacoast of India?

(1) Paradweep

(2) Vishakhapatnam
(3) Cochin

(4) Chennai
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9.173

9.174

9.175
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Q.177 On the map shown below which

Q.178

Q. 179

Q.180

shows the best according to the

given crop/soil/oilseeds below:
O ks |

Black Soil Area

(1)

(2) Cotton Production Area

(3) Groundnut Production Area
(4) Jawar Production Area

Which crop is known as 'the
crop ofthe poor man'?

(1) Maize
(2)
(3)
(4)

Match the following to find the
correct answer

Rice
Sorghum (Jawar)
Bengal Gram

(1) Town of Kurukshetra
Weavers

(2) Mini Khajiar
Switzerland (Himmachal
of India Pradesh)

(3) The Heartof Panipat
Rajasthan

(4) Theareaof  Ajmer
‘Dharam’

Which is the highest peak of
Eastern Ghats?

(1) Pachmarhi
(2) Mahendragiri
(3) Doddabetta
(4) Anamudi
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